SERIES 10

Orogatti

Alles in Bewegung

Compact cylinder

double effect

ZDH
ZERT

B
DINENISO 9001
REG.-NR. O 0298070

rogatti Bewegungstechnik GmbH & Co. KG Series 10
Dorfstrasse 12 - 71549 Auenwald-Dafern Edition: 11 2019
Telefon ++49 (0) 71 91 / 35 43-0 Subject to change
e-mail info@rogatti.de

www.rogatti.de


http://www.rogatti.de/

Design type

Function

Piston diameter in mm
Stroke in mm
Pneumatic connection
Installation position

Temperature range

Orogatti

Alles in Bewegung

Technical characteristics

Compact cylinder
Front and end pieces bolted together with the

cylinder pipe, so these cylinders are repairable.

Double effect

8, 12, 16, 20, 25

Freely selectable, max. 500
G1/8, G1/4

Any

-20°C to +80°C

Materials - Piston rod from stainless steel

- Cylinder pipe from aluminium, hard-anodised

- Front and end pieces from aluminium, anodised
Seals - Perbunan
Damping End position damping by Vulkollan rings
Other - Magnetic pistons upon request

- Heat-resistant seals upon request

- Customer-specific solutions upon request

- Seal kits upon request

Pneumatic parameters

Medium Compressed air quality: 2.2.1 compliant with 1SO

8573-1

(2=particle / 2=dew point / 1=0il concentration)
Operating pressure in bar 1to 10

rogatti Bewegungstechnik GmbH & Co. KG Series 10

&\ ZDH * ‘ Dorfstrasse 12 - 71549 Auenwald-Dafern Edition: 11 2019

¥ ZERT \ 4 Telefon  ++49 (0) 71 91 / 35 43-0 Subject to change
s e-mail info@rogatti.de

DINENISO 9001

REG.-NR. Ql 0298070 www.rogatti.de


http://www.rogatti.de/

Orogatti

Mounting 51

Basic design

Alles in Bewegung

h1+Hub

ha __h5_ h6
h3 a3 d3 a
h2 1] 1] .

| [ ]

[ % \1|

s = ——t © c

swi h13 h14 d5

Piston di d2 d3 d4 d5 h1 h2 h3 h4 h5 h6 h13 h14 al swil
%] %] %] %)
8 3 M3 M5 12 9.5 44 6 7 10 9 5 18 14 14 =
12 5 M5 M5 16 13 51 11 12 15 11 5 22 16 19 -
16 6 M5 GYs 20 16 71 12 155 20.5 135 9 27 22.5 22 5
20 8 M6 GYs 25 20 80.5 12 16 23 15.5 9 31 24.5 27 6
25 10 M8 GYs 30 26 88 16 23.5 30.5 155 9 31 24.5 32 8
R, rogatti Bewegungstechnik GmbH & Co. KG Series 10
ozon * ‘ Dorfstrasse 12 - 71549 Auenwald-Dafern Edition: 11 2019
ZE20 K Telefon  ++49 (0) 71 91 / 35 43-0 Subject to change

» EMAS e-mail info@rogatti.de
DINENISO 9001 N
REG.-NR. Q1 0298070

www.rogatti.de


http://www.rogatti.de/

Mounting 52

Rear thread mounting

oOrog

atti

Alles in Bewegung

h1+Hub
h h
h4 5. he.
h3 d3 d3 at
h2 _ 4
I T A
[ [
[ = [
. ©
- NI _.%__ E O ] | ©
Ty T ©
sw1 w\ *
h7 DIN 936 d5
Piston di d2 d3 da d5 dé h1 h2 h3 h4 h5 h6 h7 al swil
%) %) %) 1%}
8 3 M3 M5 12 9.5 M8x1 54 6 7 10 9 5 10 14 =
12 5 M5 M5 16 13 M12x1.5 63 11 12 15 11 5 12 19 -
16 6 M5 GYs 20 16 M12x1.5 83 12 15.5 20.5 135 9 12 22 5
20 8 M6 GYs 25 20 M16x1.5 95.5 12 16 23 15.5 9 15 27 6
25 10 M8 GYs 30 26 M20x1.5 106 16 23.5 30.5 155 9 18 32 8
R, rogatti Bewegungstechnik GmbH & Co. KG Series 10
ozon * ‘ Dorfstrasse 12 - 71549 Auenwald-Dafern Edition: 11 2019
ZE20 K Telefon  ++49 (0) 71 91 / 35 43-0 Subject to change
e-mail info@rogatti.de

DINENISO 9001
REG.-NR. O 0298070

EMAS

www.rogatti.de


http://www.rogatti.de/

Orogatti

Alles in Bewegung

Mounting 53

Front thread mounting

h1+Hub
h3 h7 __h5 h6
| . al
h2 d3 d3
2 - 1
H bl < i
o Tl | R | N | i -
T T T ©
sw1/ K
DIN 936
Piston dl d2 d3 d5 d4 h1 h2 h3 h5 h6 h7 al swl
%] %] %)
8 3 M3 M5 M8x1 12 51 6 7 9 5 10 14 -
12 5 M5 M5 M12x1.5 16 60 11 12 11 5 12 19 -
16 6 M5 GYs M12x1.5 20 78 12 155 135 9 12 22 5
20 8 M6 GYs M16x1.5 25 88.5 12 16 155 9 15 27 6
25 10 M8 GYs M20x1.5 30 99 16 23.5 15.5 9 18 32 8
R, rogatti Bewegungstechnik GmbH & Co. KG Series 10
ozon * ‘ Dorfstrasse 12 - 71549 Auenwald-Dafern Edition: 11 2019
ZE20 K Telefon  ++49 (0) 71 91 / 35 43-0 Subject to change

EMAS e-mail info@rogatti.de
DINENISO 9001 :
REG.-NR. Q1 0298070

www.rogatti.de


http://www.rogatti.de/

Orogatti

Alles in Bewegung

Mounting 54

Foot mounting

h1+Hub
h24 b%S d%rﬁ a:13
a
h2 T = T TTT i T
IRIHE R L iy
TS A —HH———1————+H “HH 8w
yaill | e EE
SW1 ] 1l 11 1 ‘ 111
h7 h12+Hub dg

Piston dl1 d2 d3 d4 d5 d8 h1 h2 h3 h4 h5  h6 h7 hi2 al a2 swil

%] %) %) %) %]
8 3 M3 M5 12 95 33 53.5 6 7 10 6 6 8.5 32 14 8.5 =
12 5 M5 M5 16 13 43 62 11 12 15 6 6 11 32 19 12 -
16 6 M5  GYg 20 16 43 83.5 12 15.5 20.5 10 10 11 48 22 15 5
20 8 M6  GYg 25 20 5.3 95 12 16 23 10 10 14 53 27 18 6
25 10 M8 GYg 30 26 53 1025 16 23.5 30.5 10 10 14 53 32 22 8
R, rogatti Bewegungstechnik GmbH & Co. KG Series 10
Omi  @f Dotz o g ouen
ject to change

» EMAS e-mail info@rogatti.de
DINENISO 9001 N
REG.-NR. Q1 0298070

www.rogatti.de


http://www.rogatti.de/

Mounting 55

Rear swivel mounting

oOrog

atti

Alles in Bewegung

h1+Hub
h4
al h3 h5 ‘ h6
b1 h2 d3 d3 h7
T Ml
- T
[ v [~
- , n \—[ N! ,P ‘ © ' TN
© T| T} T LA
P
|1
swi d6
h8+Hub
Piston dl1 d2 d3 d4 d5 dé h1 h2 h3 h4 h5 h6 h7 h8 al b1 swil
%) %) %) %] -0.1
H7
8 3 M3 M5 12 9.5 3 54 6 7 10 9 11 10 40 14 6 -
12 5 M5 M5 16 13 5 63 11 12 15 11 12 12 43 19 9 -
16 6 M5  GYs 20 16 5 83 12 155 205 135 16 12 57.5 22 9 5
20 8 M6  GYs 25 20 6 95.5 12 16 23 15.5 18 15 66.5 27 12 6
25 10 M8  GYs 30 26 8 106 16 235 305 155 19 18 67.5 32 16 8
R, rogatti Bewegungstechnik GmbH & Co. KG Series 10
ozon * ‘ Dorfstrasse 12 - 71549 Auenwald-Dafern Edition: 11 2019
ZE20 K Telefon  ++49 (0) 71 91 / 35 43-0 Subject to change
e-mail info@rogatti.de

DINENISO 9001
REG.-NR. O 0298070

EMAS

www.rogatti.de


http://www.rogatti.de/

Mounting 56

Rear flange mounting

oOrog

atti

Alles in Bewegung

h1+Hub
a2
hd hS h6 a3
h3 d3 d3 at
h2 |
- = ™
Il I h
[ ~ I
~ o ‘ © - a ™
© Ut *J[*" ] 1 I - @© R \NVE
swi '
1h7]| d9 ds
Piston d1 d2 d3 d4 d5 d9 h1 h2 h3 h4 h5 h6 h7 al a2 a3 swl
%] %] %] %) %)
8 3 M3 M5 12 95 35 44 6 7 10 9 5 3 14 28 22 -
12 5 M5 M5 16 13 4.5 51 11 12 15 11 5 4 19 36 28 -
16 6 M5  GYs 20 16 55 71 12 15.5 20.5 13.5 9 5 22 45 34 5
20 8 M6 GYs 25 20 6.5 80.5 12 16 23 15.5 9 8 27 55 42 6
25 10 M8 GYg 30 26 6.5 88 16 23.5 30.5 15.5 9 8 32 60 47 8
R, rogatti Bewegungstechnik GmbH & Co. KG Series 10
ozon * ‘ Dorfstrasse 12 - 71549 Auenwald-Dafern Edition: 11 2019
ZE20 K Telefon  ++49 (0) 71 91 / 35 43-0 Subject to change
e-mail info@rogatti.de

DINENISO 9001
REG.-NR. O 0298070

EMAS

www.rogatti.de


http://www.rogatti.de/

Mounting 57

Front flange mounting

oOrog

atti

Alles in Bewegung

h1+Hub az
a3
h4 h5 h6
|
h3 d3 d3 at
h2 ’ l
L [ 1 I
I b | \
o 3 [ | |
s L1 S O s
| |
yan | |
swi ! ‘
h7 d9 d5 N
Piston d1 d2 d3 d4 d5 d9 h1 h2 h3 h4 h5 h6 h7 al a2 a3 swl
%) %) %] %) %)
8 3 M3 M5 12 95 35 44 6 7 10 9 5 3 14 28 22
12 5 M5 M5 16 13 45 51 11 12 15 11 5 4 19 36 28 -
16 6 M5  GYg 20 16 55 71 12 15.5 20.5 13.5 9 5 22 45 34 5
20 8 M6  GYs 25 20 6.5 80.5 12 16 23 15.5 9 8 27 55 42 6
25 10 M8 G, 30 26 6.5 88 16 23.5 30.5 15.5 9 8 32 60 47 8
R, rogatti Bewegungstechnik GmbH & Co. KG Series 10
ozon * ‘ Dorfstrasse 12 - 71549 Auenwald-Dafern Edition: 11 2019
ZE20 K Telefon  ++49 (0) 71 91 / 35 43-0 Subject to change
e-mail info@rogatti.de

DINENISO 9001
REG.-NR. O 0298070

EMAS

www.rogatti.de


http://www.rogatti.de/

oOrogatti

Alles in Bewegung

Mounting 58

Centre swivel mounting

h1+Hub
hd4 h5 I &
- I‘h_ﬁ’ al
h3 d3 - d3 ;
h2 —— 9 O — H
[ [ [ :
N (|
= _ P Y I | I I L _ -
59 | AR, T @ w ©
(3] [de]
swi L | = hel ™~ L1 ©
e T
h7 ds
h8+Hub a2
Piston dl d2 d3 da dé h1 h2 h3 h4 h5 h6é h7 h8
%) %) %) %]
h8
8 3 M3 M5 9.5 3 44 6 7 10 9 5 22 16
12 5 M5 M5 13 5 51 11 12 15 11 5 27 15
16 6 M5 GYg 16 5 71 12 15.5 20.5 13.5 9 32 23
20 8 M6 GYg 20 6 80.5 12 16 23 155 9 37 27
25 10 M8 GYg 26 8 88 16 23.5 30.5 155 9 39 25
Piston al a2 a3 bl swl
%)
8 14 19 8 30 =
12 19 25 10 40 =
16 22 29 12 44 5
20 27 36 15 55 6
25 32 42 185 61 8
rogatti Bewegungstechnik GmbH & Co. KG Series 10
ozon Dorfstrasse 12 - 71549 Auenwald-Dafern Edition: 11 2019
ZE20 Telefon  ++49 (0) 71 91 / 35 43-0 Subject to change
e-mail info@rogatti.de

DINENISO 9001
REG.-NR. O 0298070

www.rogatti.de


http://www.rogatti.de/

Orogatti

Alles in Bewegung

Mounting 59

Foot mounting, rear thread mounting and rear swivel mounting combined

h1+Hub
h4
h2h3 ’_h_ ;3 d'ih_ﬁ— A7
T .
Ti=T = T T
Hi LA
_ il o % v | l | :|| f\:‘
g5 o =T+ D s
] Jie==
j i 1 \1'\ :
sw1 1
»Ll-ﬁ h8 [ pino3e
h7 hg+Hub
h10+Hub
Piston d1 d2 d3 d4 d5 dé d7 do hi h2 h3 h4 h5 h6 h7 h8
(%) (%) (%) %] (%) (%)
H7
8 3 M3 M5 12 9.5 M8x1 3 3.3 63.5 6 7 10 6 6 85 10
12 5 M5 M5 16 13 M12x1.5 5 4.3 74 11 12 15 6 6 11 12
16 6 M5 GYg 20 16 M12x1.5 5 4.3 95.5 12 15.5 20.5 10 10 11 12
20 8 M6 GYg 25 20 M16x1.5 6 5.3 110 12 16 23 10 10 14 15
25 10 M8 GYg 30 26 M20x1.5 8 5.3 120.5 16 235 305 10 10 14 18

Piston h9 hl10 al a2 bl swil
%) -0.1

8 32 495 14 85 6 =
12 32 54 19 12 9 =

16 48 70 22 15 9 5
20 53 81 27 18 12 6
25 53 82 32 22 16 8
R, rogatti Bewegungstechnik GmbH & Co. KG Series 10
°ZDH * ‘ Dorfstrasse 12 - 71549 Auenwald-Dafern Edition: 11 2019
ZE20 K Telefon  ++49 (0) 71 91 / 35 43-0 Subject to change

» EMAS e-mail info@rogatti.de
DINENISO 9001 N

REG.-NR. Ql 0298070 www.rogatti.de



http://www.rogatti.de/

oOrogatti

Alles in Bewegung

Mounting 60

Foot mounting and front thread mounting combined

h1+Hub
hs, hé, al
h3 h7 [ [
h2 d3 d3
[ I T
|- ]
} }:\ | n 3 I| ! \‘i I
85 8 [T R 5
y [l [
SW1 L]l 11
DIN 936 h8 h9+Hub
Piston di d2 d3 d4 d5 d9 h1 h2 h3 h5 h6 h7 h8 h9 al a3 swl
%) %) 1%} %)
8 3 M3 M5 12 M8x1 3.3 60.5 6 7 6 6 10 85 32 14 85 =
12 5 M5 M5 16 M12x1. 4.3 71 11 12 6 6 12 11 32 19 12 -
5
16 6 M5  GY 20 M12x1. 4.3 905 12 155 10 10 12 11 48 22 15 5
5
8
20 8 M6 GY 25 M16x1. 5.3 103 12 16 10 10 15 14 53 27 18 6
5
8
25 10 M8 GY 30 M20x1. 53 1135 16 235 10 10 18 14 53 32 22 8
5
8
R, rogatti Bewegungstechnik GmbH & Co. KG Series 10
& 2eH * ‘ Dorfstrasse 12 - 71549 Auenwald-Dafern Edition: 11 2019
ZE20 K Telefon  ++49 (0) 71 91 / 35 43-0 Subject to change

EMAS e-mail info@rogatti.de
DINENISO 9001 :
REG.-NR. Q1 0298070

www.rogatti.de


http://www.rogatti.de/

oOrogatti

Alles in Bewegung

Mounting 61

Foot mounting, front and rear thread mounting and rear swivel mounting combined

al h1+Hub
a2 h3 h7 h5 ‘ | h6 h7
d9 h2 d3 d3 dar.
! . I |
/,%-‘N\ i @ RN P! W
A ~ §!~ = . 3 iriiH i
o }-%%;[ = () s
Nz
AiNA ) - =
N | %j]\
: swi1
b1 ha h9+Hub DIN 936
DIN 936
h10+Hub
Piston@ d d2 d3 d5 dé do d6 d4 hl h2 h3 h5 h6é h7 h8 h9 h10
%) %] %)
%] H7
8 3 M3 M5 M8x1 M8x1 3.3 3 12 70.5 6 7 6 6 10 85 32 495
12 5 M5 M5 M12x1.5 Mi12x1.5 4.3 5 16 83 11 12 6 6 12 11 32 54
16 6 M5 GYg M12x1.5 M12x1.5 4.3 5 20 1025 12 15.5 10 10 12 11 48 70
20 8 M6 GYg Mi16x1.5 Mi16x1.5 5.3 6 25 118 12 16 10 10 15 14 53 81
25 1 M8 GYs M20x1.5 M20x1.5 5.3 8 30 1315 16 235 10 10 18 14 53 82
0

Piston@ al a2 bl sSw

-0.1 1

8 14 85 6 =

12 19 12 9 =

16 22 15 9 5

20 27 18 12 6

25 32 22 16 8
R, rogatti Bewegungstechnik GmbH & Co. KG Series 10
0%5’% v _Il?orfstrasse 12 - 71549 Auenwald—_Dafern Ed_ition: 11 2019
elefon ++49 (0) 71 91 / 35 43-0 Subject to change

EMAS e-mail info@rogatti.de
DINENISO 9001 :

REG.-NR. Ql 0298070 www.rogatti.de



http://www.rogatti.de/

oOrogatti

Alles in Bewegung

Bearing block
with bearing pins

= = h9
h1 h|2 = i =
h3 b1
X < -
° T -
42 g [ ]
P~
K=
T T
5 L1 e BE
£ '
T o
.d3] at
ha | h5
R at .
Part no. for piston dl d2 d3 hl h2 h3 h4 h5 h6é h7 h8 h9 al bl til1
%) g @ O
h9
00005-53 8 3 59 32 3 8 6 35 7 4 12 16 18 14 6 22
00005-54 12 5 74 43 45 10 7 45 10 65 17 22 25 19 9 4.2
00005-55 16 5 94 53 6 10 7 55 11 8 20 25 28 22 9 52
00005-56 20 6 104 64 65 14 7 65 14 10 25 32 34 27 12 6.2
00005-57 25 8 104 64 8 16 7 8 16 10 28 36 40 32 16 6.2
R, rogatti Bewegungstechnik GmbH & Co. KG Series 10
& 2eH * ‘ Dorfstrasse 12 - 71549 Auenwald-Dafern Edition: 11 2019
ZE20 K Telefon  ++49 (0) 71 91 / 35 43-0 Subject to change

EMAS e-mail info@rogatti.de
DINENISO 9001 :
REG.-NR. Q1 0298070

www.rogatti.de


http://www.rogatti.de/

	Technical characteristics
	Design type
	Compact cylinder
	Front and end pieces bolted together with the cylinder pipe, so these cylinders are repairable.
	Function
	Double effect
	8, 12, 16, 20, 25
	Piston diameter in mm
	Freely selectable, max. 500
	Stroke in mm
	G1/8, G1/4
	Pneumatic connection
	Any
	Installation position
	-20°C to +80°C
	Temperature range
	- Piston rod from stainless steel
	Materials
	- Cylinder pipe from aluminium, hard-anodised
	- Front and end pieces from aluminium, anodised
	- Perbunan
	Seals
	End position damping by Vulkollan rings
	Damping
	Other
	- Magnetic pistons upon request
	- Customer-specific solutions upon request
	- Seal kits upon request
	Pneumatic parameters
	Medium
	Compressed air quality: 2.2.1 compliant with ISO 8573-1 
	(2=particle / 2=dew point / 1=oil concentration)
	Operating pressure in bar
	1 to 10
	Mounting 51
	Basic design
	Mounting 52
	Rear thread mounting
	Mounting 53
	Front thread mounting
	Mounting 55
	Rear swivel mounting
	Mounting 56
	Rear flange mounting
	Mounting 57
	Front flange mounting
	Mounting 58
	Centre swivel mounting
	Mounting 59
	Foot mounting, rear thread mounting and rear swivel mounting combined
	Mounting 60
	Foot mounting and front thread mounting combined
	Mounting 61
	Foot mounting, front and rear thread mounting and rear swivel mounting combined



